COMPRNIES

4380 N.W. 72nd Avenue ¢ Miami, Florida 23166 » [305] 593-5111

A CONVERSION FOR

VERTICAL
MONITORS

ensed to

IN-IT
lliam FL. -

Telex: 441879
FAX (305} 59403517



1l-P.C. BGARD SET

1-FILTER BOARD (T CONNECTOR)

1-FILTER BOARD (G & H CONNECTOCRS)

1-MAIN HZRNESS ASSEMBLY

1-MARQUEE PLEXI

1-PANUL CVERLAY

1-DECAL SHEET (INSTRUCTIONS, BUTTON LABELS, ETC. )
2-51Di GRAPHIC DECALS

1-F.C.C. CAGE

1-JOYSTICK (8-WAY)

1-BAC OF HARDWARE CONTAINING: 4-1" Spacers
4-3/8" Spacers
S-Buttons
6-Push Button Holder & Switch Assenmbly
&-Pal Nuts
4-M3 x 35 Machine Screws
4-Res Locks
4-%6 x 3/4" Wood Screws
4-#8 x 3/4" Wood Screws

%
‘! £
' L 2
%
hof _
. *,
5*
¥
~a
.
s ¥,



LA B A A WARNING #W¥®kik

THIS EQUIPMENT CAN GENERATE AND RADIATE RADIO FREQUENCY ENERGY,
WHICH MAY CAUSE INTERFERENCE TO RADIO COMMUNICATIONS IF NOT IN-
STALLLED AND USED IN ACCORDANCE WITH THE INSTRUCTIONS. IT HAS
BEEN TESTED AXND FQUND TO COMPLY WITH THE LIMITS FCR CLASS "a"
COMPULCINC DEVICE, PURSUANT TO SUBPART "J" OF PART 15 OF F.C.C.
RULES. THESE REGULATIONS ARE DESIGNED TO PRCOVIDE REACONABLE
PROTECTIOCN AGAINST SUCH INTERFERENCE WHEN OPERATED IN A COMMERCIAL
ENVIRONMENT, OPERATION OF THIS EQUIPMENT IN A RESIDENTIAL AREA

1S LIKELY TO CAUSE INTERFERENCE, IN WHICH CASE THE USER AT HIS OWXN
EXPENSE, WILL BE REQUIRED TO TAKE WHATEVER MEASURES MAY BE RE-
QUIRED TC CORRECT TiHE INTERFEREKCE.

(AR EEEEREER RS ERREREEREEEEE]



RES LOCKS INSTALLATION

THHIS KIT INCLUDES 4 RES LOCKS (MOUNTING FEET)} AND HARLDWARE NEEDED
7O MOUNT 3OARCDS IN CABINET.

REMOVE TH& STANDOFF AT THE 4 CORNERS OF THE MAIN P.C.B. ASSEMBLY
AND TMNSTALL THE M3 z 35 MACHINE SCREWS, SPACER, AND RES LOCK AS
PICTURED 3ELOW,

£
M3 x 35
/ Machine Screw
LT
N/
& 1" Spacer
Tl
Fes Lock
.

THE FILTER BOARDS SHOULD BE MOUNTED WITH THE #8 x 3/4" SCREWS AND
TIEE 3/3" SPACERS BETWEEN THE BOARD AND THE MOUNTING SURFACE.,



FILTER BOARDS

TWO FILTER BOARDS ARE INCLUDED IN THIS KIT TO COMPLY WITH F.C.C.
REGULATIONS,

TO USE THESE BOARDS CONNECT THE HARNESSES TGO THE LABELED CONNECTORS
ON THE MAIN P.C.B. ASSEMBLY, AND MOUNT THE FILTER BOARDS IN ANY
CONVENIEIT LOCATION.

F.C.C. CAGE

POSITION MAIN P.C.B. ON THE COVER OF THE F.C.C. CAGE. (SECTION
WITEGJT »UNCHED HOLES) MARK HOLES IN RESLOCK MOUNTING FEET. PUNCH
HOLES IN F.C.Z. CACE WHERE MARKED,

HARNESS INSTAILLATION

INSTALL £.C.B. ASSEMELY IN CABINET. CONNECT HARNESS 'O BOARDS.

THE BARE END OF HARNESS HAS BEEN SEPARATED WITH WIRE TIES AND LARELED
IDENTIFYING ITS LOCATION.

ROUTE TilE HARNESS TO THE PROPER AREA AND HOLD IT IN PLACE WITH CARLE
CLAMPS.

POWER SUPPLY

s

BLACK WIRES TO GROUKD
RED WIRES TO +5VEC
BROWXN WIRE TO -5vDC

N

[

2 BLUE WIRES 70 +12VvDC
YELLOW WIRE 10 +13VDC

=t

THE YFELLOW WIRE IS THE AUDIQ SUPPLY. IF 13VDC IS NOT AVAILABLE ON
YOUR POWER SUPPLY TIHE -12VDC IS USUALLY SUFFICIENT.



HARNESS INSTALLATION (CONTINUED)

MONITOR

1 RED WIRE TO VIDEO RED

BLUE WIRE TO VIDEO BLUE

GREEN WIRE TC VILEQ GREEN

WHITE WIRE TO HORIZONTAL AND VERTICAL SYNC

bed

o e

BLACK WIRE TO VILEO GROUND

THE WHITE WIRE MUST BE CONNECTED TO BOVH HORIZONTAL AND VERTICAL
SYNC CONNECTIONS On THE MONITOR.

COKTROL »ANEL

THE HARNLSS WAS DESIGCNED TO ACCOMCDATE DUAL CONTROL MACHINES, SUCH
A5 COCKTAIL TABLES.
70 CONVERT AN UPRIGHT CABINET WITH SINGLE CONTROLS, SIX WIRES MAY

BE LEFT UNUSED: BROWN/BLUE ORANGE /GREEN
CRANGE /WHITE BROWXN/BLACK
WHITE/ORANGE YELLOW/WHITE

THE STRIPPED ENDS OF THESE WIRES SHOULD BE CUT OFF AND THE WIRES TIED
TO THX HARNESS WITH WIRE TIES.

CONTROL PANRNEL CONNECTI®ONS

1 PINK/BILACK - 1 PLAYER SELECT

1 RED/BLACK - 2 PLAYER SELECT

1 ORANGE/BLACK-1 PLAYER UP

1 GREEN/EROWN- 1 PLAYER DOWN _ *
1 RED/ORANCE - 1 PLAYER RIGHT

1 GREEN/ELUE -~ 1 PLAYER LEFPT

1 RED/WHITE - 1 PLAYER FIRE

1 WHRITE/PINK - i PLAYER WARP

1 BLACK - COMMON GROUND ‘ M



HARNESS INSTALLATION (CCNTINUED)

COIN DOOR

1 WHITE/YELLOW - CCIN SWITCH "A"
1 GREEN/YELLOW - CCIN SWITCH "B"
1 BLACK - COIN SWITCH COMMON

WHITE/LROWN - TILT SWITCH

[

COIN METER

1 BLYE/ORANGE - COIN METER "&A"
L WHITE/WICLET - COIN METER "B"

THE COMMGN SIoi OF THE COIN METERS MUST BE CONNECTED TO +12VDC.
THERE IS5 NO WIRE IN THE HARNESS FOR TH:IS AND IT MUST BE ADDED.

SERVICE SWITCH

1 BROWN/WHITE - SERVICE SWITCH
1 BLACZK - COMMON GRQUND

IF YCU USE ONI.Y ONE COIN METER, WIRE COIN SWITCH "A" WHITE/YELLOW
TO BOTH COIN SwWlITCHES AND CONNECT COIN METER "A" BLUE /ORANGE TO
METER.

SPEAKRR

1 WHITE/ELACK - SIEAKER +
1 BLACK - SPEAKER -



a

PIN CONNECTICK PLAN FOR "HALLEY'S COMET"

. Component side Soclder side Component side Solder side N
1 GND-black GND-black 1A| GND-black GND-black 1 A GND-black
2 GND-black GND-black 2B| GND-black Not Used 4.,B Not Used ’
"N
. -
3 GHD-black GND-hlack 3C| GND-black Not Used 3 c Not Used °
4 GND-black GND-not used 4D} GND-n/u Not Used {4 o Not Used ’
5 +5¥-rod Y-CND-black | 3E V-GND-n/u Sound out-Wh/blkj 5 m Sound out-black
& +5V-red V-Sync-Whiteg &€F V-Sync-n/u Post 6 F Post
7 +5V-read Post TH| Post Not used 7T H P-On-Reset-not used
8 -5V-brown Video R-red | 8] Video R-n/ul |[Coin sW A-WH/Yel ] 8 2 Coin SW B-Gieen/Yel

9 +13V-yallow

Video G grn

3K

Video G-n/u

Coin meter A-Bl/

qr9 K

Coin meter B-WH/Yel

pIP
SWITCH 3

el

— Y

r__\if

110 Post Video BL-P1Y10L| Video BLn/u |CeinLockoutA-W/Gd1o L CoinLockoutB-Yel /Bl

11 +wmﬂwvwcm -3V-not cmmawpx.twcnsxttlli mchanmKJmZ\zm 11 M Tilt SW-White/Brown

12 +12V-blue ] -5V-brown wm21|wc:=\c MMHMMM.H -pink/Bl1¥12 N mﬁumnn 2-Red/Black

- o meclzxcmma 12p +H~€n%xmwmw Hv up- Mnmnmmwmwm.MlerIJlluw-MWrmhotz\mwcm
Main Voalume e -

- Control +12V-blue  J4R| +12v-blue 1P Down-green/Bn {14 R 2P Dow.a-Orange/White
Uk:u /wOFwEJO MMMIMOn Jﬁmﬂwum +mc|3\cmmlh WW“WWMWH;MMW\OHs.Hm 5 a MM:mem:mIMMHnmeh
"Control +5V-red N6T] +5V-red 1P Left- mnmm:\du 16 T 2P Left- oﬂm:mm\nnmmz
~.Nat. Uso esv-rea  fro[ssvored | fwot vsea  [7 ol wot vesa T

Beacn £ fveror wedhes]isvoa/ed | luor vsoa o ] ”_,_W_Q.E

S T Not Used ho w Not Used
_z[on.c.nﬂml.ljuo X " Not Used
le!wmmm wma\:wﬂmww. Y " 2P FIRE-Brown/Black
Mw.iwxzuﬂmM”M%X:le.M ‘mﬁ WARP - KO~wWMMﬂTHﬂm



DIP SWITCH SETTING PLAN FOR "HALLEY'S COMET"

DIP SWITCH 4

! | | !
OCPTION POSITION , 1 2 3 1 4 5 6! 7 8

" TABLE OFF
UPRIGHT | ON=

GAME STYLE

SCREEN NORMAL OFH :

INVERSION |3 yUERSTON oN ]
| N :
|

ST NORMAL - OFF

MODE TES® ON ;

| ) . |

! l

: ; R

PEMG |NORMAL RMAL ?rg; :

SOUND lru SOUND™| ON !

ELAY ‘1»OIN 1PLAY K OFF*OFF *

RICING 1COIN-2PLAY ON OFH
2COIN-1PLAY © OFF ON

COIN A }zcozm IPLAY ON ON

PLAY '1COIN- 1DIAﬁ OFF **OFF |

PRICING ‘ICCIN~2PLAY ON  OFF

r S OINCIPLAY

coty B 12LOIN 1PLAY OFF ON

2COIN-3PLAY ON  ON
i

LIP SWITCH 3

OPTION POSITION { 1 ] 2 3 41 5 16 1 7 1 8
GAME - o %

DIFFICULTY B OFF " "OFF

{X-EASIEST A 4 QN OFF

D-MOST C |__OFF _ON ,

P08 T1cuLt) D ON  ON < .
Polnts beling 200K/500K OFF 1 OFF . SR
awarded an 200K/8C0K ON_| OFF C e
additional [200K/1C00K OFF | ON . ‘
player's ship  100K/500K ON_ | ON ~ . )
Number of i 3 N OFF ¢ xOEF B
player's ship : 2 \ ON OFF .
given for a 4 OFE ON

credit 3 ON = ON & B
pperdtion WHEN FIXED . 1 .. 5 ON

gata -

pecoraer INOT FIXED o r OFF *
NCTE:  i.When "Dip 5W 3" is set at 5-"on"/6-"on", number of player‘s

ship is not increased throughout. game.
2.Ccin mechs Syshem can be obtioned . by settring "DIP SW 1.
position 6-"on" for 51ngle¢c01n selector
position 6-"off" for twin coin selgctor ..
3."DIP SW 2" is not used and all contacts should be set "off".

.
* INDICATES FACTORY SETTINGS

LT



